Name NC.4.NF.6 CFA (Cluster 7)

1. Gayle rode her bike _1% of a mile on Monday and % of amile on Tuesday. Which

decimal grid shows how far she rode Monday and Tuesday?
a.

g Yoo

2. Webb filled a bucket % of the way with sand for his sand castle. He decided that it was

1 o
too much sand so he then poured out o of the sand. How much sand remains in the

2
bu(:ket.g _E, p! . 1.
S o 19 Io
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3. The model below represents the sum of two fractions.

Fep ™3
L] 5%

Which two fractions have a sum that could be represented by this model?
6 1

G, e
100 10
(o) 22 g0 0o 2
100 10 % lUb 10
LA
100 10
60 |, 10
d. m 'i‘;]'

4. Mark rode his bike a distance that is shown by the point on the number line below.

1>
0 01 02 03 04 05 06 07 0.8 0.9 1.0

Which fraction represents the distance that Mark rode his bike?

27
a. — =1\

27
27
b\ 0 ¢ 2:‘
Ny 27
27
d - 27
5. Find the sum for this addition problem.
g2l =
10 100
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6. Jose is working on a project with his partner where he needs to have a large piece of
paper at least the height of his partner. Each line represents % of a meter.

Which number represents the height of Jose’s partner?

@ 0.7 meter
. 0.07 meter
¢c. 7 meters

d. 90 meters

7. On a school track team, for a relay race, the first runner ran 13—0 of the way and the second

runner ran f‘(—)% of the race. What is the fraction that represents the total distance that the

two runners ran?

b +3:L
100 10 |02
44 C 4 ,.jl~
R
71
Cy =
110

100

8. As the teacher was grading a test, she saw that a student added % and % to get the sum

of . What should the correct answer be?

100
a. That is the correct answer. 2 8
e o } j/":: ,_8/;;
100 Joo  job 10
c. 82
10
78
d. e
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9. Charlotte is training to run a marathon. On the first day, Charlotte ran % of a mile. Which

3
number has the same value as E?

a. 30.0 o)
b 3.0 ,%
0.30 ke

4 0.03 \0

10. Two friends are having a friendly debate about a math problem. The first problem they

3 4
solved was e hi— The answer was %. The second problem that they solved was

=+ 2 One friend said that the answer changed and the other said that it did not. Which

100 10
statement is true?
x o vy 34 'b"\
a. The answer did not change, it is still —. 20
100 2 10
b. The answer changed to 20 ¥ \uD "\”
100 /00 " 6)
43 ! "y
The answer changed to ——. 5 X \00
W

. 430
d. The answer changed to Too°
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